GENERAL CONSTRUCTION NOTES:

ORCRONORONCEENONC

4

CONSTRUCTION SHALL BE IN ACCORDANCE WITH THE STANDARD SPECIFICATIONS
FOR PUBLIC WORKS CONSTRUCTION, 7997 EDITION.

UNLESS OTHERWISE SPECIFIED, ALL STEEL PLATE USED TO FABRICATE THE POSTS
AND RAILS SHALL BE 0.12" THICK AND CONFORM 7O ASTM A 36.
SQUARE TUBING SHALL BE 0.12" THICK AND CONFORM TO ASTM A 5017.
0.0. SQUARE TUBING SHALL BE 0.083" THICK AND CONFORM TO ASTM A 507.

3/4” 0.0. SQUARE SOLID BAR SHALL CONFORM TO ASTM A 306, GRADE 65 OR
ASTM A 36.

37

AFTER ALL CUTTING, DRILLING & WELDING BUT PRIOR TO RAILING INSTALLATION,
THE EXISTING STRUCTURAL STEEL RAILING SHALL BE PREFPARED FOR AND THEN
FAINTED TO MATCH THE POWDER COAT COLOR OF THE FABRICATED RAILING
PANELS.

ALL BOLTS & SCREWS SHALL BE HIGH STRENGTH STEEL.

UNLESS OTHERWISE NOTED ALL ELEVATION VIEWS ARE FROM THE STREET [OOKING
OUT TO THE RAILING. EXCEPT THE OVERALL RAILING ELEVATIONS ON SHEET 2,
WHICH ARE ALL [OOKING EAST.

PRIME CONTRACTORS BIDDING THIS PROJECT SHALL HAVE A CLASS "A” OR "C-23"
LICENSE.

CONCRETE FOR BRIDGE ABUTMENT REPAIR SHALL BE 565—-C—-3250.

EQUALS AS APPROVED BY THE ENGINEER.

SPECIFIC CONSTRUCTION NOTES:

3-1/2" &

COLOR F.O/? ALL RAILING MEMBERS SHALL BE DARK GREEN (PMS 3425C) EXCEPT FOR
8" DIA. SPHERICAL CAPS FOR THE POSTS WHICH SHALL BE ORANGE (PMS 172C) OR

NUMBER INDICATES THE SPECIFIC ALTERNATE TO BE CONSTRUCTED.

CONSTRUCT 4’ HIGH CHAIN LINK FENCE AND GATE.

—— 8" DIA. HOLLOW STEEL
OR CAST IRON BALL.

Er=

/]

/

/_' |

AN

NUMBERS ABOVE 100 IN A HEXAGON ON THE PLAN REFER TO THE RESPECTIVE STANDARD
DRAWING AND SHALL BE CONSTRUCTED ACCORDINGLY.
ON THE PLAN OR COVER SHEET. ANY NUMBER SHOWN BELOW THE STANDARD DRAWING

UNLESS MODIFICATIONS ARE NOTED

0.083" THICK.

—~——3/4" SQUARE TUBE, ! i

£l

L 2 1/2" SQUARE TUBE,—/

l

l

0.12" THICK. :
ov '
I

I

l

~— 3 1,/2" SQUARE TUBES, Lﬂ
I
I
|
|
|
|
|

0.12" THICK.
— 1/2" x 4" CARRIAGE
BOLTS. (14 EA. ARCH
ANCHOR POST ASSEMBLY.)

fFOR

NOTE:

1. NOICH EXIST. TOP AND MID—RAILS

(ON THEIR STREET SIDES)

7O ALLOW PROPOSED 3.5 SQ. POST
TO FIT FLUSH WITH EXIST. |-BEAM POST.

2. NOTCH RAILING PORTION OF PROP. RAILING

RIVERSIDE

SLIC W

S

< |

VINE 57. & 5A

RPORATED
,&$CO W W] /, 1&6’3
~ s

. 97 o~
ST

CITY SIVERSIDE
A]

D

<IKS

)5k

OVER UNIVERSITY AVE.

SEVENTH §'
2| UNIVERSITY

HMARTIN LUTHER K

PANEL TO FIT WITH ARCHED PANEL ANCHOR POSTS.

3. SEE EXPLODED ASSEMBLY VIEW, THIS SHEET, FOR
TYP. |-BEAM POST COVER PLATE.

2 1/2” SQUARE TUBE,
0.12" THICK.

¢
EXIST.

“I” BEAM
POST

10.5"

10.5”

PROP. RAILING PANEL/

1" R

1/2" x 4" CARRIAGE
BOLTS W/ NUTS & WASHERS

SECTION C—C

2 1/2" SQUARE TUBE,
0.12" THICK.

3/4" EXPANSION BOLTS 3.5'—=
W/4" MIN. EMBEDMENT. _i

——

fet—

3/16" PLATE

‘;}_

U | 8]

'ﬂ—j_ 511

i

3.5"—=

LLEVATION

ANCHOR POSTS

N.T.S

W/4" MIN. EMBEDMENT.

SECTION A—A

5.25"

SHECTION B—F

FOR ARCHED PANEL ANCHOR ROSTS

~ oo 9 ool n -
B AN - C || C
ol , I I
- —t— 2 12" souare ' TuBE, n
AZQ( 0.12" THICK. I il
\\\ / !: l
~ZJeg o5 Joo| ~ - 07
1.5" || L. >% EXIST. STEEL RAILING ” :
(TYP.) // "I" BEAM POSTS AND |
CHANNEL RAILS | ” :
I 2 ” ” | | -
N I <+
x A I (Y5
% -+ o6 = }—H—— | =
| | R
e I he l]""\—5/4” EXPANSION BOLTS

SEE TYP. END POST DETAIL, SHT. 3
FOR ANCHOR PLATES & BOLTS ON
END ANCHOR. POSTS.

SCALE:7"=7,000"

8.57

g \/

\

1"x2" TUBE " palE== © '
0.12” THICK T - /\
7% i~
3/4" SQUARE TUBE / j;r
0.083" THICK —-3/4"

\
SHCTION £—#

Ma
RALTLINGS
NTA FE AVE. BRIDGES

< | M

PROPOSED RAILING PANEL
(SEE TYP. RAILING PANEL \

DETAIL ON SHT 3)

TOP RAIL CONNECTION DETAIL FOR RAILING
PANELS TO ARCHED PANEL ANCHOR POSTS.

CONNECT WITH 3/8" SELF TAPPING SCREWS.

[«»—7.25"

%

H

J L,y

77

. |

7

I\/\I
SHCTION D—1

LOWER ARCHED RAIL
NOT SHOWN.

_'
-

TOP RAIL CONNECTION DETAIL FOR TOP ARCHED
RAIL TO ARCHED PANEL ANCHOR POSTS

CONNECT WITH 3/8" SELF TAPPING SCREWS.

CALIFORNIA

- NI

PROPOSED 4" DIA. BALL
& CAP PLATE (SEE TYP.
< POST DETAIL ON SHT 3)

[0
/A

1
/757

/A{

PROPOSED 3.5” SQ. POST
(SEE TYP. POST DETAIL \
ON SHT 3)

\

p: Wi

&9

PROPOSED BOTTOM PLA TE—/
(SEE TYP. POST DETAIL
ON SHT 3)

NOTE:
NOTCH EXIST. TOP AND MID—RAILS
(ON THEIR STREET SIDES)

TO ALLOW PROPOSED 3.5" SQ. POST

TO FIT FLUSH WITH EXIST. |—BEAM
POST.
EXIST. TOP RAIL
(SEE NOTE)
3.5% |
e
e
: N
, <$\
N~
| PROPOSED |—BEAM POST
| , COVER PLATE (SEE TYP.
; | ‘ POST DETAIL ON SHT 3)
3\ | y'
~ I
RN N
. i J RN
. - - I 7\ ~ |
1|l | pe
IR gz
N
P I | EXIST. MID—RAIL
Al ! (SEE NOTE)
o o TR T EXIST I=BEAM POST
«3\\“ N s "‘,/ﬁ '
/4 < \ < // . |
SRS A
~ 7 :\r : J
\\ ? a J < //
~N 4, I L
~N a_.~
~7 EXIST. CONC. FOOTING

EXPLODED ASSEMBLY VIEW

N.T.S

APPROVEDE 'f

CITY OF RIVERSIDE
PLANNING DEPARTMENT

?,/p[/ 27

< ENGINEER IN -
2 "\RESPONSIBLE CHARGE

MICHAEL KATUSIAN

DATE

R.C.E. No. 36686 expires 6/30/00

DATE ?///I/ 92

i

CITY OF RIVERSIDE, CALIFORNIA
PUBLIC WORKS DEPARTMENT

ACCT. NO.:
230-541500—-440223-30291
230—-541500—-440223—-30292

BRIDGE RAILINGS

APPROVED BY v | oate | APPROYED BY

DEPUTY P.W. DIRECTOR  |fAL

LA

PRINCIPAL ENGINEER

P v PUBLIC WORKS DIR}ICTOR b

MARK

REVISIONS

APPR.

DATE

STREET SERVICES

DESIGNED BY

SK

DRAWN BY

SK, LH

CHECKED BY

72 | 72K //
oate __ /D [{ [ §7

FOR
VINE ST. & SANTA FE AVE.
BRIDGES AT UNIVERSITY AVE.

4

R—35400
or_ D

SHEET 1 OF.

HORIZ. SCALE: AS SHOWN FILE NO.

Inoexen 2/2/98 G

VERT. SCALE: AS SHOWN

Ny

L

AGAH 7B

I




) &\\\\\\\\\\\\\\\\\\\\\\\\N\\\\\&&\\\\\\\\“\WW&WWWN\\\\\\\\\&NW&NWWWW

T R TR R T T T s

R B R T R R I IR R R R R T T e

160'-4"%

T R R

SEE ARCHED PANEL AND RAINCROSS DETAILS BELOW

LALLLL WL UHRRERALLCTS

76"+ | 7 —6"+ | 7 —6"+ | 7 —6"+ 7'—6"+ 7'—6"+ 7' _ 6"+ 7' —6"+ l 7 —6"+ | 7' —6"+ | 4'-5"+ |3’—4"1_‘| 7' —6"+ | 7' —6"+ , 7' —6"+ | 7' —6"+ | 56"+ | q4'-7"+

' 20'-9" . ' |

Paia ey

TA SN e HORIZONTAL ANCLE FONT
SAN TA FE AVE (EAS T) SCALE: 1"=5" LEX/ST/NG 6" CONC. CURB

161'—11"%

A A A A AR

SEE ARCHED PANEL AND RAINCROSS DETAILS BELOW

I~

7'—6"* 7'—6"1 7'—6"% 7'—6"% 7'—6"1 7'—6" % 7'—6"* 7'—6"% 7'—6"% 7'—6"% 7'—6"% 7'—6"% 6'-9"% 52"

I+
~
|
!
I+

7'—6"

I+
N
|
S
I+

7'=5"*% 7'—6" % 7'—6"% 7'—6"* 76"

20'-9"

I

LLLULLLLLLLE S

| | N |  SANTA FE AVE. (WEST) sue rs

135'-8"+ LEX/ST/NG 6" CONC. CURB

RLULLEL L TR

A A A

SEE ARCHED PANEL AND RAINCROSS DETAILS BELOW

4-10"% | 76"t | 7—-6"+ | 76"+ | 5-2Ft | 76"+ | 76"t 7'—6"+ 7'~6"+ 7'—6"+ 7'—6"+ 76"+ | 7-6+ | &-4't | 7-6"+ | 7-6"+ | 76"t | 4-9"t | 4-9'%

N . »”

3 20'-9

N 1 |
N

8

R ~

Y Y Y P Y Y Y L Y s L G Y S 4 G G G e A e Y e Y L Y Y e e ’/’/,‘/

A A A A A A A A A A A A AN

LULLLLLULLLLLBELY
Y Y Y L e A Y G Y L Y Y G Y Y Y LY Y L G S LYY G Uy LG G L e G L Y L S Y Y Y Y L g L L Y Y Y o e Y L Y Y GG Y L L G S 5 Y AL YA G LS 4545 5%

VINE ST. (EAST) swuc s

136'—1/2" +

SEE ARCHED PANEL AND RAINCROSS DETAILS BELOW

8'—1"% 7'—6"* 7'-6"% 7-6"t 7'=6"% 7'—6"% 7'—-6"*% 7'—6" % 7—-6"% 7'—-6"* : 7'—-6"% 7'—6"% 7'—6"% 7'—6"% 7'—6"% 7'—-6"1 7'—-6"% 8'-0"*

20'-9”

NOTE: THERE ARE TWO RAINCROSS SYMBOLS .
| o | . ' o] PER FENCE. ONE ON EACH SIDE OF CENTER - o L o oo ;
END ANCHOR POSTS L U ' 7T Lttt | ARCHED PANEL. |
T 11

SEE DETAIL, SHT. 1
\ ’ﬁ‘—

REMOVE AND REPLACE DAMAGED ‘ - | .
BRIDGE RAILING PRIOR TO INSTALLING . , {EX/ST/NG 6" CONC. CURB

NEW RAILING PANELS—SEE DETA/LS
ON SHEET 3

WELD 3/4” SOLID
A = PROP. RAINCROSS STEEL BARS TO

VINE ST. ( WES T) SCALE: 17=5’ , SYMBOL. PROP. SOLID STEEL
20 o —— PICKETS. K
l Ly 12" n\\ . K
" 10” ~WELD 3/4" SOLID \
\J% ; »” D~ [ ~add ) 7 ’_S%
oL - 70 /=6 e 776 o mATERIAL = 1,47 THICK| || 4| . o] %\L—' N DALUMINOM BAR 7O |
, R | BRONZE ANODIZED I" ) N ] : |
T — PICKETS FOR . . N o & - ” :
E——— N /7 N N ARCHED PANELS ArcreD paner| AUMINUM PEATE 1 J A AN M [ ROuUND HeAD TamPer |
\ \/ PROP.\ WEST SHALL BE 3/4" - ANCHOR POST, 2 R ROOF MACHINE SCREW. |
PROP. EAST RAILIN - SQUARE BAR.— SEE DETAIL i I £ROO |
] i : : i 2 PER SPACE BTWN. |
o T e SHEET 1. o PROF. PICKETS ?
______ R T Q PICKET |— \ :
——L . DOUBLE YELLOW TR | 1 |
=== ===s=========== STRIPE AT CENTER w i . L
LINE e ] 0
< | Y B
..................... | § L ':‘3 r ar EI ?l
B N
- iSEEE 2 2
S ln 5

] L1 N Ca— SECTION A4
ARCHED PANEL DETAIL ~ A= BAINCROSS DETALL

R G S N ) X - N.T.S.

N.T.S.

CITY OF RIVERSIDE, CALIFORNIA BRIDGE RAILINGS o e 0 44022330291
ENGINEER [N . PUBLIC WORKS DEPARTMENT FOR | 230-541500—440223—30292

AN RESPONS'BLE CHAF\)GE APPROVED BY Br | oate | APPR@VED-BY g :
N e o VINE ST. & SANTA ‘FE AVE. | R—3455

T e— —

Y L Y Y o L Y L4,

A

Ck 5 = —~ B\
- CLARKE 777 ACK B CLARKE 7

—_—

3 : PRINCIPAL ENGINEER <2 |

A PLAN VIEW (o0 I I P B ‘77;7 BRIDGES AT UNIVERSITY AVE.| s 2 o 3

. DATE . .
SCALE: 1" = 50 : DATE ?/// 47 pesioneD By SK orawn BY __SK. LH cuecken oy HORIZ. SCALE: AS SHOWN  VERT. SCALE: AS SHOWN | FILE NO.

AL NN S N A AN RS

Y M
'

i B R z'2‘4’4‘4ZZ’dz’ZZZZ%ZZZ%Z%%ZZ‘V;ZZZ‘Z’ZZZZ’MZZZ'JZ‘ZZZZZZZZZZZZZZZZ‘ZZZ‘ZZZ‘Z‘ZZZZZZZZZZZ-ZZZZZ{{ZZZZ&,’ZZ212'22‘2'222222'22 A R A A A s

/A/pareé 2-(9-98




T T R R R R R T P A A R R R R e e S R O RS SRR

VARIES

: ” 75” ) ‘
' ' 3/4” SQ. TUBE TO BE PLUGGED 1/2" x 1/1/4" HIGH jz?
| [, TOP AND BOTTOM STRENGTH BOLT, WASHERS 8" (TYP.) ‘ 35
4" DIA. HOLLOW STEEL AND NUT ! :

R R R SRS T T ywroeo

S
N
3
3
N
N
N
K
N
\\\:
Ry
N
\
N
N
=

Y Y e S

R A i o

OR CAST IRON BALL 1" x 2" TUBE (0.12" THICK)
. P / : /”«g'«/\"'\' LR \;\w\g\“”'«% R R Ry, PRE—D;?/LL HOLES IN POST I 75" (TYP.)=
. - 4” DIA. HOLLOW STEEL / . / FOR 3/8'0 SELF—TAPPING . i
s § P OF CAST KON BaLL L s B T O Y o SoRens ¥ 3/5" SELE TAPPING. SCREWS
| . ’ N o A ¥y - AN \ . - PRE—DRILLED HOLES
: | 1! 2" DIA. x 0.5" TUBE ST R \ , A A 1” x 2" TUBE : é
= B t | WELDED TO BALL & PLATE. olgl L~ A \ — AL \ (0.1 THICK) N }—$ |
| —5.05 S0, TUBE (0.12" THICK) . EXIST. *C’ CHANNEL \ A \ EXIST. 'C’ CHANNEL \ . \
/ o
p WELDED TO PLATE. | / ’ 12" % 1/1/4" HIGH
) ) - 2% | STRENGTH BOLT WASHERS 127 |- q}
~—3.5" S0. TUBE POST (0.12" THICK) SECTION M- AND NUT /] 3/16” $
SECURE BALL ASSEMBLY TO POST SCALE: 1/2" = 1” _ - L~
WITH TAMPER PROOF SCREWS. 4 SECTION N=N | V4
- NOTCH PANEL ASSEMBLY SCALE: 1/2" = 1” — —_—
. ) norcH panel 4sseweLy - / VIEW R—F SECTION P—P
3.5" SQ. POST AT FRONT - )
. AND |—BEAM COVER o
3/4” SQ. TUBE (0.083 THICK) TYP. ~—1 /16" 2 : ,
| S e senveen ol o e | [OF RA, CONNECTION DFETALL
| 4"+/— CLEAR. T
-] T 4 i NOT§
WHERE AVAILABLE, USE EXISTING BOLT # .n.| & 1 SHOWN FOR CLARITY. Z
HOLES IN C—CHANNEL SPLICE PLATES T o 10”
N S’l 4 l S TO ATTACH PICKET PANELS TO EXISTING ? - 4 | REMOVE & REPLACE ~ VERTICAL
! -1 /| RAILING. TOP BOLTS SHALL BE CENTERED -y o 5 PORTION OF “C" CHANNEL
‘ . = || 2 a , BETWEEN THE 1ST. & 2ND PICKETS d SIS 11.55"+ = REMOVE & REPLACE 20.5 L.F.
9P & T 9 NEAREST THE POSTS EXCEPT WHEN e~ 1/16"+ | 1/2" x 1.25" HIGH STRENGTH STEEL OF "C” CHANNEL RAILING
J A I g USING EXISTING BOLT HOLES. BOLT WITH WASHERS & NUT (TYP.)
N \\ IN PRE-DIRLLED 9/16"¢ HOLES CUT EXIST. "C” CHANNEL DAMAGED
. . | - UT EXIST. "C” \
2 N \ SECTION S-S5 N N S E & REMOVE VERTICAL PORTION W RAILING
N FRONT BOLTS SHALL BE CENTERED * FLUSH TO THE TOP OF EXIST. J \
M Tl l T BETWEEN THE PICKETS ADJACENT TO SCALE: 1" = 1 6.8"% —r———t———— b SALVAGE THE CUT "¢” r W
! ! | . 1 X _ | THE TOP BOLTS. K L | | _T K CHANNEL & USE FOR NEw T UH\| parcH
] 7 - & 7 @ $-$ i q @ % > | | i HORIZONTAL PIECE AS SHOWN || | | EXISTING
3 ? | i | | & | | IN SECTIONS J—-J & K—K | | ‘ ” C & G
. ' LEAVE A .25" GAP BETWEEN BOTTOM ‘
X M OF POST AND TOP OF CONCRETE. 2-3 | & ? L +-———"—"17 | |/
: ~ "N < | 3 { 1 e T Sy S —J o o - - %}_ﬂ L —— ———
o ; —t=— 1/8" MAX. —_ = = = = = ; —7 1 ‘
- 7 TE— - - R P - 0 SPLICE PLATE / e P -
L v 7 % K . 11.55" £ = ‘ =6 TIE 12" EXIST. > /—,;14 [Jerzoc.
ek T - = ! ! 1/16" = - REBAR INTO NEW -
“ ELEVATION SECTION L-L A R T
! d | - = _
SCALE: 1" = SECTION T-T END POST DETAIL THIS SHEET. 7
SCALE: 17 = 1’ B
~ 35" SFECTION J—J - -
A : : —
- [VEPICAL KRAILING PA/\/EZ DE'] Aﬂ/[ -~ SECTION G-G
' SCALE: 17 = 57" g7 SCALE: 1"=2
31/8'@ HEX HEAD ’ 3 8"@ HEX HEAD SELF - N = 8,@ HEX HEAD SELF
SELF TAPPING SCREWS EXIST. CHANNEL SHOWN 7'43/3//\/@ SCREWS WITH NOTE: gﬂjACTO%HA;%RELCé%%%N H /IJTZDP/NG SCREWS WITH
WITH LOCK WASHERS ) PHANTOM FOR CLARITY /[ 0CK WASHERS DETAIL SHOWS FAR RIGHT ~ LOCK WASHERS
"IN PREDRILLED HOLES —NOTCH EXIST. TOP CHANNEL TO = =35 _ L _ _}_\ ENDPOST LOOKING FROM [ — = — =2l ” | 1/2" CHAMPHER
(TYP.) ALLOW POST TO BE BOLTED 87" , 1/4" x 4" BOLT. WASHERS I /I e THE STREET TO THE RAILING. 1/4 , ) ON 4
TO EXIST. I-BEAM ~—87 i T DALl e L FAR LEFT END POSTS ARE i ‘ (TYP.) ON ALL
. —— — < THRU HOLES IN I-BEAM MIRROR_IMAGES. : &N | EXPOSED CORNERS.
Lo : 9 ’ 4 ) ., A % L3—1/4"x3—1/4"x1,/4" [ ] l ]
~ I - ~ s L3—1/4"x3—1/4"x1/4 v o " [ ] | ‘ '
[ | ) ﬁ g=—h g ' 3—1/2" SQ. STEEL TUBING | l l REMOVE & REPLACE
N e _I—f f L /3— 1/2" SQ. STEEL TUBING R I = EXIST. RAILING
1 o o oy | " |
o I AR ‘ - CUT & REMOVE EXIST. | , .
\ 35" SO. POST ""¥3.5” SQ. TUBE 1/2"x4—1/4" STOVE BOLTS CHANNEL TO ALLOW 1/2"x4—1/4" STOVE BOLTS | : /] =4 2'-0 |
; : , .87 W/ .12 THK. WALL WITH WASHERS AND NUT FOR INSTALLATION OF WITH WASHERS AND NUT . ' exisT| P.cc curTER
3.5” ?VT{)PP??:STBg/Y@fDOM) 87 NOTE: T = THICKNESS . 3-1/27 SQ. TUBING. ON D—D | #5, 4 TOTAL— |
\ ' | 3.5 o OF MATERIAL. 21.02 C SECTT - — ’ - fA'C' PAVT.
. . ' 4.38" 8.76” SCALE: 1/2" = 1’ ¥ Rl —— 1= :
SECT[ON A—A 35" S0 POST 1.5 P | NOTE: ONLY MIDDLE &(@- 3
S T = 1 L XsT. 238" < & WoE SECTION E—E ; - 12 ‘E%YP‘HJ ] o w e 44
- ' C—CHANNEL (TYP.) SHE T I e o | \ L/ . e I B
' £XIST 3.25" x 6" NOTE: ONLY MIDDLE POST IS SHOWN . T‘ ¢ ¢ & o | \\/ , '~ BN
| J~BEAM POST (TYP.) . , D N N O e . \V |
1 /2" x 4—1,/4" STOVE BOLTS .25” THICK | SECT]O N H— H
. PROPOSED 12" THICK WITH WASHERS & NUT L SPLICE PLATE
4” DIA. HOLLOW STEEL _/ EXIST. |
3 oR CAST 20N BALL [—BEAM COVER PLATE 3/8"¢ HEX HEAD 1/4” PLATE L CURB FACE B | SCALE: 17=2"
L [ ! SELF TAPPING SCREWS 3/4” EXPANSION BOLTS
’ : EXIST. 2.38" x 8" WIDE -~ WITH LOCK WASHERS W/4” MIN. EMBEDMENT H
C—CHANNEL (TYP.) IN_PREDRILLED HOLES - L ! —
- e (TYP.) L SECTION U-U (MOD.) -t 4
O g f e % (MOD. FOR W'LY SIDE VINE ST. BOTH ENDS)F, 1’ {0 $-¢- _l F |
: SECTION B—-F5 + SCALE: 17 = T 1 ¢ ; | EXIST. SPKLR.
y CALE. 1" = 1’ W 29” | STL. POST\M\x
3 —\ T = Y of LS T o = =
\ )2 1/2" x 4—1/4" STOVE T . ; . N - = 4 — 4= : : G t 5= ] k
/ BOLTS W/WASHERS & NUT LI I/ 431/ 4T 4=1/27 LONG - | n 5] (865 874" 865 | oy L 1 S D \/ 4_— : o !
| = % ’ | | | ' & 5y 1 —/7 — T
§ T T Tl — T ' q —+ 4 p '
jﬁ_ 1 : | |1 ‘. T bl hd < I : /Q) A e SECTION K—K [ EXIST. GUTTER 12" | 12"
¥ < i 712" o N i AN | L1 8 pLaTE i ?\; (me.) SCALE: N.TS. I 7 S S |
. S T - ~ - " e B
I N e / A e SECTION U-U 2L e e e B
, 4 | WASHERS & NUT L3-1/4"x3—1/4"x20" LONG —— SCALE: 1" = 1’ 4 | pd 3—4"
‘ 7 I_ —— L ? W : : 1~ n 3/4” EXPANSION BOLTS U 7 ¢4 P X U REMOVE & RECONST.
Al F___w___ V. ; ¥ q ] ’ o ? _ ae | W/4” MIN. EMBEDMENT ____r o ™ | g n?_} _ v :
' T ? d 1/4" x 4" BOLT, " - ” - ' %
)z = o ' s & Kot ! | 7 PLAN VIEW ——H
g 0 er) . ” o ” b b
57 " X 8 : SECTION F—F SECTION C—C 29 “ ] W'LY SIDE, N'LY END VINE ST.
57 | 2 P P |——C ELEVATION BRIDGE AB%;ME/\"/T REPAIR
b 7 : SCALE: 17 = 1’
§ - ] ™ W
s . — [ YEICAL %/W POSYT DAETALL
NS R " ACCT. NO.:
\ | 1.5 '3 . %, _ . CITY OF RIVERSIDE, CALIFORNIA BRIDGE RAILINGS 30 541500— 44022330291
: ;Qgcéa E}Eg%/vg/w OR ‘ 10 . ENGINEER IN ' PUBLIC WORKS DEPARTMENT FOR 230-541500—440223-30292
| FRONT VIEW SIDE VIEW s sore, veyp gomou eure \RESPONSIBLE CHARGE . DU HORKS O | FOR
| SouE 7= T SCALE T = ' 2 s e e e VINE ST. & SANTA FE AVE. | R—3400
§ . % é : PRINCIPAL ENGINEER ) A O y : ‘
\ MICHAEL KATUSIAN SHIERRM—NGREGTOR i PPBLIC WORKS DIRFCOR :
\ } §/ P / m % P OS } ﬂ é } A / % R.C.E. No. 36686 expires 6/30,/00 MARK REVISIONS APPR.| pare fSREET SERVICES & 1377 /0 (F ?7 B Rl D GES AT UN l VERS/ TY AVE SHEET 5 OF 3
§ ] DATE %//77 : pEsioneD By SK o Y K. L crece e DATE —— L= ‘ HORIZ. SCALE: AS SHOWN  VERT. SCALE: AS SHOWN | FILE NO. '

/NOE)(ED 2/19/9¢ ﬁﬁ/

-

-

AAAG AN

%%y

LYY LY AIAYLL ALY,

O R R Dy v s

D O R h

45y

(5555

Yy

AN

R i R i

%

Gz



	R3455-1.TIF
	R3455-2.TIF
	R3455-3.TIF

